Kingdom of Saudi Arabia Math 110 ” Exam A ”
King AbdulAziz University
Faculty of Science First semester 1431/1432

Dept. of Mathematics

Instructions. (30 points) solve each of the following problems and choose the correct answer:

I-H  0<a<b  them 1>

l/)/ True b) False

2-If x| > 8 then “§—x 8
1. a) True l)a')/False
3-1f ?-4<0 then x €

Vaﬂ—z,ﬂ b) (-2,2)

il
b

©) (=,2] U [2,0) d) (=0,-2) U (2,0)
4- The value 2-=| =
a)2—n b)) &

Vﬁ?—z d)z+2

5- The solution set of 0=2—-x<2 is
a) [-2,0] b) [-2,0)

;,z(o,ﬂ d) (~o0,~2]U(0,0)

6- The equation of the horizontal line that passes through the point (5,2) is

a)y=>5 l/bf)/y:Z

¢)x=5 dx=2

7- The x-intercept and the y-intercept of the line 4x-3y =12

a) x-intercept = —4, y-intercept = -3 b) x-intercept = 4, y-intercept = 3
¢) x-intercept = -3, y-intercept = 4 l/d’){-intercept =3, y-intercept = —4

8- The slope of the line y = 10 is

a) Undefined b) 2
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9- If the distance between the points (a,1),(9,4) is 5 then a =

a) =3 ,);/5

02 d) 3

10- If a circle has radius 6 cm , then the length of the arc subtended by a central angle of 7/3 is

a) 360° b) 60°
i
<) 3 Mn
11- Simplifying the expression cscy —siny gives
1. a) cotysiny b) cotycscy

’/ﬂotycosy d) cotysecy

Z = = I =
12-If cosx ,X € [2 ,n], then tanx

5
3 =i
a) 4 /)5/_4
4. =4
c) 3 d) 3
D B
13- lThe value of cos? (32 >1
V’)’j b) =-
o 1 d) 0
14- The domain of the function f{x) = —L s
VX2 +10
a) [-10,10] b) (=10, 10)
¢ [-10,10) Va)/;z
x—1if x >3
15-If flx) =

then f(-27) =
Jx ifx<3

‘)(—3 b) 3

c) 9 d) Undefined

o i X
16- The function f{x) EES is
An odd function b) An even function
¢) An even and odd function d) Neither even nor odd function
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17- The function Ax) = x+1| is increasing on the interval

2) [0.%0) P L)

¢) [1,0) d) (=o0,~1]
18- The function f{x) = —xs+—5’1‘ is
x+ 5
a) A rational function Mﬂn algebraic function
¢) A power function d) An exponential function
19- The degree of the polynomial P(x) =9 is
2)7 b) 8
w5 )2
2
20- The domain of the functi ==Zral . g
e domain of the function g(x) = is
: a) (=0,0)U (0, ) U (1,) b) (=o0,-3] U [-3,1) U (1,0)

O (=0-3)U(3,1]ULw) 4] (=0,-3) U (=3,1) U (1,)

21- A form of the exponential function is

M"g/(x> =375 b) fx) = x37

¢) h(x) = a7 d) A(x) = -3.757*

22-If fix) =x*+1 and glx) = Jx—4, then the domain of (fog)(x) is

a) (=o0,00) b) (=00, —4]

Jerfa,o) d) (-4,4)
23- The accompanying figure shows the graph of y = x* shifted to a new position. An equation for the
new position is
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Vﬁ:(x—z)uz b)y = (x—2)* +3
0y=(x-3)* d)y=(x-2)*
i

24- If the graph of y = 3* is reflected about the x-axis and then about the y-axis, an equation for the
new graph is

a) y=3" =8>

c)y=-3* d)y=3"+3

25- If the function oo =tc and the function g(x) = sin(x) then (fog)x) =

a) x? cos(x) b) 2xcos(x)

¢) cos(x?) M_ cos?(x)

26- If the function Sx) = 3* and the function g(x) = 9*! then  flx)g(x) =
33.\'42

7 b) 32x-1
¢) 279

d) 92}1

27- The function X)) = (%)“

a) Increasing Vx b) Increasing Vx € (0,)

mecreasing Vx d) Decreasing Vx € (—,0)
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28- The domain of the function Ax) = % is

a) (—e0,0) b) (=0, 1) U (1,0)

Veﬂ—oo,O) U (0,0) d) (=0,0) U (1,00)

ef—e*
eX

29- Simplifying the function fix) = gives

a) 2 b) e*
) e= Ml —e®

30- The accompanying figure shows the graph of y = f{x). The range of f(x)
o b
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a) (=3,0) U (0,5) b) (0,5)

1/%,4] d) (-3,

Y




